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Q.1 Select the most appropriate option to substitute the underlined segment in the
following sentence.

With the harsh words of the boss, Srujan felt sad, but his colleague’s words created
insult to injury.
Ans 1. attached insult to injury

2. provoked insult to injury
3. added injury to insult

4. added insult to injury

Question ID : 264330144382
Status : Answered
Chosen Option : 4

Q.2 Select the option that correctly expresses the following sentence in passive voice.
The child will recite the poem.
Ans 1. By child poem will be recited.
2. The poem will be recited by the child.
3. The poem is recited by the child.

4. The poem will recite by the child.

Question ID : 264330144333
Status : Answered
Chosen Option : 2

Q.3 Parts of the following sentence have been given as options. Select the option that
contains an error.

You need to acknowledge the itinary and accommodation details of your journey as
per the given calendar.

Ans 1. calendar
2. accommodation
3. acknowledge

4. itinary

Question ID : 264330144267
Status : Answered
Chosen Option : 4




Q.4 Choose the correct meaning of the underlined word in the given sentence.
When | was in Class 5, | won the first prize in extempore at my school.

Ans 1. A short piece of writing on a subject
2. A sports event
3. A speech delivered without prior preparation or rehearsal

4. A dramatic performance on stage

Question ID : 264330150530
Status : Answered
Chosen Option : 3

Q.5 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
A. fell before me
B. a carcass of an animal
C. when suddenly
D. my heart skipped a beat

Ans 1. BACD
2.CDBA
3. ABCD
4. DCBA

Question ID : 264330149917
Status : Answered
Chosen Option : 4

Q.6 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A) So then why are not Silicon Valley entrepreneurs clamouring to decode the ancient
wisdom?
B) The failure rate in finding a new drug is as high as 95%.
C) Because these once-thriving cultures are now reduced to an endangered tribe.
D) According to industry data, it takes $2.6 billion and, on average, fourteen years to
develop a new drug.

Ans 1. BADC
2. DCBA
3. DBAC

4. ACDB

Question ID : 264330149907
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate synonym of the given word.
Resentment

Ans 1. Calmness
2. Happiness
3. Anger

4. Relaxation

Question ID : 264330149865
Status : Answered
Chosen Option : 3




Q.8 Select the option with the correct spelling that can replace the underlined word in the
given sentence.
Kasturi acts as a liason between patients and staff.

Ans 1. liaision
2. laision
3. liaison

4. liaisan

Question ID : 264330143124
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate ANTONYM of the given word.
Meagre
Ans 1. Regional
2. Racial
3. Stupid

4. Generous

Question ID : 264330143180
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate synonym for the underlined word in the following

sentence.
The politician’s pompous rhetoric during the campaign failed to garner much support
from the public.

Ans 1. Conciliatory
2. Benign
3. Supercilious

4. Diplomatic

Question ID : 264330143941
Status : Answered
Chosen Option : 2

Q.11 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A.In accordance with hierarchical status
B.Of the services rendered

C.Rewards are given

D.And are not related to the economic value

Ans 1.A,B,D,C
2.A,D,B,C
3.C,A,D,B
4.C,B,A,D

Question ID : 264330142616
Status : Answered
Chosen Option : 3




Q.12 Select the option that expresses the given sentence in positive degree of comparison.
She is the dullest child in the class.

Ans 1. She is very duller in the class.

2. Dullest child in the class is she.

3. No other child in the class is as dull as she.

4. In the class of all she is dull.

Question ID : 264330143882
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate ANTONYM of the underlined word.
Wealthier countries are obligated to fulfil a commitment made in the Paris Agreement
to provide $100 billion a year in international climate finance.

Ans 1. feeble
2. drape
3. breach
4. hale

Question ID : 264330143657
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate idiom for the underlined segment in the following
sentence.

Brave people never hide at the moment of decision.

Ans 1. When the crunch comes
2. Beat the clock
3. A hell of time

4. Turn back the hands of time

Question ID : 264330149551
Status : Answered
Chosen Option : 1

Q.15 Select the option that expresses the given sentence in active voice.
French is taught to us by Miss Glenn.

Ans 1. Miss Glenn taught us French.
2. Miss Glenn teach us French.
3. Miss Glenn teaches us French.

4. Miss Glenn is teaching us French.

Question ID : 264330144893
Status : Answered
Chosen Option : 3




Q.16 Select the option that will improve the underlined part of the given sentence.
Adyasha would have been looked gorgeous in ethnic apparel.

Ans 1. was looked
2. would have looked
3. had looking

4. would be looked

Question ID : 264330149913
Status : Answered
Chosen Option : 1

Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Babbal is / a oldest member /in our / Black Ice Club.

Ans 1.inour
2. Black Ice Club
3. Babbal is

4. a oldest member

Question ID : 264330144889
Status : Answered
Chosen Option : 4

Q.18 Parts of a sentence are given below in jumbled order, except the first part. Arrange the
parts in the correct order to form a meaningful sentence.
Such poststructuralist pronouncements...
A.not only in the Anglo-American academia
B. on the literature of the Third World,
C. however, are a common feature of the literary theory practiced
D. but also in the Third-World countries

Ans 1. ABCD
2. ADCB
3. BCAD
4. CABD

Question ID : 264330149909
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate ANTONYM of the given word.
Fundamental

Ans 1. Impact
2. Neutral
3. Least

4. Link

Question ID : 264330143653
Status : Answered
Chosen Option : 3




Q.20 Select the most appropriate homophone to fill in the blank.
Even animals find it difficult to the loss of their loved ones.

Ans 1. bear
2. wear
3. where

4. bare

Question ID : 264330149758
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Unemployment arises from a variety of (1). One which is always recurring and the
effects of which we have had a recent example, is the disorganisation of industry resulting
from a long war; this is a serious (2) admitting of no easy. (3) at the

best of times. Again there is the unemployment which followed a marked diminution in the

(4) of any raw product, such as cotton; fewer hands are required in the mills and
the factories. We may call this cause of bad harvests. Similar, but more serious is the effect of
changes in industry due to the invention of machinery which does more work and require

(5) hands. Yet another cause is strike or lockout and this is more to be deplored
because such a stoppage is due to a very trivial matter, perhaps the men are working half an
hour longer than what their Union permits.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. causes
2. thoughts
3. things

4. types

Question ID : 264330147565
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Unemployment arises from a variety of (1). One which is always recurring and the
effects of which we have had a recent example, is the disorganisation of industry resulting
from a long war; this is a serious (2) admitting of no easy (3) at the

best of times. Again there is the unemployment which followed a marked diminution in the

(4) of any raw product, such as cotton; fewer hands are required in the mills and
the factories. We may call this cause of bad harvests. Similar, but more serious is the effect of
changes in industry due to the invention of machinery which does more work and require

(5) hands. Yet another cause is strike or lockout and this is more to be deplored
because such a stoppage is due to a very trivial matter, perhaps the men are working half an
hour longer than what their Union permits.
SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. difference
2. discussion
3. nature

4. problem

Question ID : 264330147566
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Unemployment arises from a variety of (2). One which is always recurring and the
effects of which we have had a recent example, is the disorganisation of industry resulting
from a long war; this is a serious (2) admitting of no easy (3) at the

best of times. Again there is the unemployment which followed a marked diminution in the

(4) of any raw product, such as cotton; fewer hands are required in the mills and
the factories. We may call this cause of bad harvests. Similar, but more serious is the effect of
changes in industry due to the invention of machinery which does more work and require

(5) hands. Yet another cause is strike or lockout and this is more to be deplored
because such a stoppage is due to a very trivial matter, perhaps the men are working half an
hour longer than what their Union permits.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. key
2. clue
3. answer

4. solution

Question ID : 264330147567
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Unemployment arises from a variety of (1). One which is always recurring and the
effects of which we have had a recent example, is the disorganisation of industry resulting
from a long war; this is a serious (2) admitting of no easy (3) at the

best of times. Again there is the unemployment which followed a marked diminution in the

(4) of any raw product, such as cotton; fewer hands are required in the mills and
the factories. We may call this cause of bad harvests. Similar, but more serious is the effect of
changes in industry due to the invention of machinery which does more work and require

(5) hands. Yet another cause is strike or lockout and this is more to be deplored
because such a stoppage is due to a very trivial matter, perhaps the men are working half an
hour longer than what their Union permits.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. material
2. quality
3. quantity
4. cloth

Question ID : 264330147568
Status : Answered
Chosen Option : 3



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Unemployment arises from a variety of (1). One which is always recurring and the
effects of which we have had a recent example, is the disorganisation of industry resulting
from a long war; this is a serious (2) admitting of no easy (3) at the

best of times. Again there is the unemployment which followed a marked diminution in the

(4) of any raw product, such as cotton; fewer hands are required in the mills and
the factories. We may call this cause of bad harvests. Similar, but more serious is the effect of
changes in industry due to the invention of machinery which does more work and require

(5) hands. Yet another cause is strike or lockout and this is more to be deplored
because such a stoppage is due to a very trivial matter, perhaps the men are working half an
hour longer than what their Union permits.
SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. fewer
2. more
3. many

4. alot of

Question ID : 264330147569
Status : Answered
Chosen Option : 1

Section : General Intelligence

Q1
Ans 1.
2.
3 Question ID : 264330147001
' Status : Answered
4. Chosen Option : 3
Q.2
Ans 1. HNT
2. DIK
3. BHN
4 QKE Question ID : 264330152075

Status : Answered
Chosen Option : 3




Q.3

Ans 1325
2.
3322
4.
Question ID : 264330146893
Status : Answered
Chosen Option : 4
Q.4
Ans 1.
2.
3. Question ID : 264330147016
4 Status : Answered
’ Chosen Option : 3
Q5
Ans 1.
2.
3. Mother
4.

Question ID : 264330152011
Status : Answered
Chosen Option : 1




Q.6

Ans

Question ID : 264330147493
Status : Answered
Chosen Option : 3

Q.7

Ans

Question ID : 264330146421
Status : Answered
Chosen Option : 2

Q.8

Ans

Question ID : 264330146632
Status : Answered
Chosen Option : 1

Q.9

Ans

Question ID : 264330146711
Status : Answered
Chosen Option : 1




Q.10

Ans 1. = Ell'ld %
2. —and +
3. —and x
4 +and -
Question ID : 264330150913
Status : Answered
Chosen Option : 3
Q.11
Ans 1.
2.
3.
. . Question ID : 264330152018
4. Weither conclusion I nor IT follows. Status : Answered
Chosen Option : 1
Q.12
Ans 14641 —12
2.16-9-21
3.23_18-_15 Question ID : 264330152053
Status : Answered
4. 34 -28—18 Chosen Option : 1




Q.13

Ans 110
2. 7
3. 8
4.9
Question ID : 264330151074
Status : Answered
Chosen Option : 4
Q.14
Ans
) M
2. %
A
’ \<i\@l
4. w

Question ID : 264330146493
Status : Answered
Chosen Option : 4




Q.15

Ans
Question ID : 264330147257
Status : Answered
Chosen Option : 3
Q.16
Ans
Question ID : 264330147319
Status : Answered
Chosen Option : 1
Q.17
Ans . ZTB
- YTA
- X5B
- XRC
Question ID : 264330150469
Status : Answered
Chosen Option : 2
Q.18
Ans ] pl
. jn

Question ID : 264330147183
Status : Answered
Chosen Option : 4




Q.19

Ans
Question ID : 264330147086
Status : Answered
Chosen Option : 1
Q.20
Ans . 358
-'352
- 354
- 356
Question ID : 264330146901
Status : Answered
Chosen Option : 3
Q.21
Ans
4,
Question ID : 264330146655
Status : Answered
Chosen Option : 4
Q.22
Ans

Question ID : 264330146622
Status : Answered
Chosen Option : 2




Q.23

Ans 1.
2.
3.
4. Question ID : 264330146095
Status : Answered
Chosen Option : 3
Q.24
Ans 1L 46— 141
2. 55— 168
3. 35 - 108 Question ID : 264330152443
Status : Answered
4. 29 — 88

Chosen Option : 4




Q.25

Ans

>

> w

0

>
w O X|l|< O P|l|lw O o< x >

<

Question ID : 264330151188

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Section : Quantitative Aptitude




Q.1

ANS 1 71:45

2. .
5? 41 Question ID : 264330149777
3. §3-47 . Not Attempted and
Status : Marked For Review

4.81:29 Chosen Option : --

Q.2

Ans

1.
2.
3.
4.

Question ID : 264330148394
Status : Answered
Chosen Option : 3




Q.3

Ans 1.
2.
3.
4.
Question ID : 264330148860
Status : Answered
Chosen Option : 1
Q4
Ans
1.
2.
71
3. =
8
4.
Question ID : 264330147847
Status : Answered
Chosen Option : 4
Q5
Ans 1.
2.
3.
4. .
Question ID : 264330147891
Status : Answered
Chosen Option : 1
Q.6
Ans 1.
2. 51
3. 47
4.5

Question ID : 264330147879
Status : Answered
Chosen Option : 3




Q.7

Ans 1.
2.
3.
4 Question ID : 264330146533
' Status : Answered
Chosen Option : 3
Q.8
Ans 3
1. —
2
2.1
3 2
1
4. 5
2
Question ID : 264330146460
Status : Answered
Chosen Option : 2
Q.9
Ans 1.
2.
3.
4.
Question ID : 264330149943
Status : Answered
Chosen Option : 4
Q.10
Ans 9
1. 1—
17
208
2. —
289
8
3. —
17
81
41—
289

Question ID : 264330146835
Status : Answered
Chosen Option : 4




Q.11

Ans 2
1. 6-—
3
X
2. 5—
3
3. 6—
3
4. 4 !
g Question ID : 264330148043
Status : Answered
Chosen Option : 1
Q.12
Ans 1. 5
2.6
3 4
4. §
Question ID : 264330148829
Status : Answered
Chosen Option : 4
Q.13
Ans 1.
2. 5
3. 7.5
4. § Question ID : 264330146819
Status : Answered
Chosen Option : 3
Q.14
Ans 1.
2.
3. 81
476

Question ID : 264330147929
Status : Answered
Chosen Option : 3




Q.15

Ans

1A
2 B
3. C
4 D

Question ID : 264330147830
Status : Answered
Chosen Option : 3

Q.16

Ans

Question ID : 264330147765
Status : Answered
Chosen Option : 1




Q.17

Ans 1
3.
Question ID : 264330148015
4. Status : Answered
Chosen Option : 2
Q.18
Ans 1.
3.
4. Question ID : 264330147623
Status : Answered
Chosen Option : 2
Q.19
Ans 118 days
2. 24 days
3. 20 days
4. 21 days
y Question ID : 264330149773
Status : Answered
Chosen Option : 3
Q.20
Ans 1. 0
2.7
3. 10
4. 8

Question ID : 264330150546
Status : Answered
Chosen Option : 4




Q.21

AnS 11735624
2. 752563
3. 1661308
41904529
Question ID : 264330148127
Status : Answered
Chosen Option : 2
Q.22
Ans 1. 3:4
2.
3. i
Question ID : 264330147701
4. 2z Status : Answered
Chosen Option : 2
Q.23
Ans 13 \JE
2. 35
3. 3\{5
4. 3+/a
Question ID : 264330148223
Status : Answered
Chosen Option : 2
Q.24
Ans 1.
2.
3.
4,

Question ID : 264330147947
Status : Answered
Chosen Option : 2




Q.25 A certain amount of money was lent for a period of 1 year 9 months at a rate of 10% per annum compounded

annually. If the compound interest is 1,460, find the amount of money lent.

Ans 1 %8200
2. %7,500
3. %6,000

4. %8,000 Question ID : 264330150967
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1
Ans 1.
2.
3.
4.
Question ID : 264330145569
Status : Not Answered
Chosen Option : --
Q.2
Ans 1.
2.
3.
4.
Question ID : 264330145784
Status : Answered
Chosen Option : 4
Q.3
Ans 1.
2.
3.
4,

Question ID : 264330145706
Status : Answered
Chosen Option : 1




Q4

Ans
Question ID : 264330149941
Status : Marked For Review
Chosen Option : 4
Q.5
Ans
Question ID : 264330145767
Status : Not Answered
Chosen Option : --
Q.6
Ans
Question ID : 264330145697
Status : Not Answered
Chosen Option : --
Q.7
Ans

Question ID : 264330146005
Status : Not Answered
Chosen Option : --




QS8

Ans 1. a-iv, b-iii, ¢-i, d-ii
2. a-iii, b-i, ¢- iv, d-ii
3. a-iv, b- i, ¢- 1, d-iii

4. a-iv, b-i, c-ii, d-iii

Question ID : 264330148655
Status : Not Answered
Chosen Option : --

Q.9

Ans 1. 70°
2.
3.
4.

Question ID : 264330145634
Status : Not Answered
Chosen Option : --

Q.10 Panchpatmali deposits in Koraput district are the deposits of which of the following minerals?
Ans L. Tron ore

2. Copper

3.

4. Bauxite

Question ID : 264330150254
Status : Answered
Chosen Option : 2




Q.11

Ans 1. Fourth
2. Third
3. Second
4. First Question ID : 264330148579
Status : Answered
Chosen Option : 2
Q.12
Ans 1.
2.
3.
4.

Question ID : 264330144699
Status : Not Answered
Chosen Option : --

Q13 The lofty gates erected in the courtyard of the temples in south India were called

Ans 1 mandap
2.
3. vimana
4. gopuram
Question ID : 264330148565
Status : Not Answered
Chosen Option : --
Q.14
Ans 1
2.
3.
4.

Question ID : 264330145882
Status : Answered
Chosen Option : 3




Q15 \Which of the following players won the orange cap in IPL-20237?

Ans 1. Yashasvi Jaiswal
2. Shubman Gill
3. Faf du Plessis
4. Devon Conway

Question ID : 264330154908
Status : Answered
Chosen Option : 2

Q.16
Ans 1.
2.
3.
4. )
Question ID : 264330145955
Status : Not Answered
Chosen Option : --
Q.17
Ans 1.
2.
3.
4.,
Question ID : 264330145856
Status : Marked For Review
Chosen Option : 4
Q.18
Ans 1.
2.
3. Question ID : 264330149380

4 Status : Answered
) Chosen Option : 2




Q.19

Ans
4.
Question ID : 264330150707
Status : Answered
Chosen Option : 1
Q.20
Ans 1.
2.
3.
4.
Question ID : 264330149350
Status : Not Answered
Chosen Option : --
Q.21
Ans 1. Four
2. Five
3. Three
4 Six
Question ID : 264330150082
Status : Not Answered
Chosen Option : --
Q.22
Ans L Article 20
2. Article 19
3. Article 25
4. Article 23

Question ID : 264330150360
Status : Answered
Chosen Option : 4




Q23 |n 1956, which of the following awards did Rukmini Devi Arundale, an eminent Bharatanatyam dancer, receive?

Ans 1. Jnanpith Award
2. Saraswati Samman
3. Kabir Puraskar
4. Padma Bhushan

Question ID : 264330150971
Status : Answered
Chosen Option : 4

Q.24
Ans 1.
2.
3.
4.
Question ID : 264330145594
Status : Not Answered
Chosen Option : --
Q.25
Ans 1
2.
3.
4 Question ID : 264330145936

Status : Marked For Review
Chosen Option : 3
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